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00 188000X epddonoobobDteROODOOexptX e HOOOO
O plexptX)v=00000¢t=0000000 1660000
4 1dp(x)
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00000 000000146000
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0000 GOO0 LieDOOD0OOgO GO LieODOO0ODO
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00 VxVOOROODOOOOOOOODO M2(V,R)0000b,ceR, B,C ¢
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00 198 VOOOOOOOOOODOOD AOvVODODOOOOOOOGO
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sI(V)No(V) =o(V)DOOOOR"OOOO000000000000 LiedO SO(n),so(n)
ooooo
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0geGLg(V)OODODO Ad(9)] = ¢Ilg'000 VODOOOOOODOOOO
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0000VO ADDDOODOOOOOODOOU(V)=U(V;:4)000000
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HO GO LeO0O0O0O0OO0OO0OOOOOOOOODHOOOOOD GOOOOODO
000G, 0000000012300 G000 Lie00000000 1.22000
O000000O0HO G, 00000000000000000007,:HxH—
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000000000 186000 LeODOOOUOODOkerf 00000 gO LieO
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D0000 1.660 Ad00D0DO0O0OOO0 1.6.1000
1

Ad(exp X)Y = e**Y =" —(adX)"Y € h
o n!

000 (expX)exp(VNh)(lexpX) ' cHOODOODOOO 1.2100
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kerAdOOODO0O0OOOgekerAdOD OO d(LgoRg_l)D gUOUoooogn
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00

V-16,
€ su(n)
V=16,
OgeUn)O0OO
V=16,
Ad(g) € su(n).
V=T,
00000 SU(O00000000000su(n) 000000 SU(R)OD00O
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0000 X, = 0 (1<i<)0000expX; =R, 00000
_ X, -
X
u = exp Ad(h) :
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googob 1197000 19800

Xi

Ad(h)

0

000 SO(r) 00000000000 0se(n)000000 SO(n)0000
0 1.11.4 000 O(n)0 2000000 SO(n)O {g € On)|detg=—1}0000

00 det(O(n)) = {x1} 000 SO(n)O {g € O(n)|detg = -1} 0000
0O0On) 0000000000 1.11.300 SO(n)0000O0Odeth = —1000
heOm D000

{9 € O(n)|detg = =1} = Ly(SO(n))

00000000000000 80(r)0 Ly(SO(r))00000 O()00000
000 O(n) = SO(n) U L,(SO(n))0 O(n)0000000000000000

00 1.11.5 GL(n,C)0 SL(n,C)0000000
00 Xegl(nC)O (4,4)000 X,000000000

000007T(n,C)O gi(n,C)000000000000 T(n,C)0000000
D000X eT(n,C)0000 detX =[], X >0000 X € GL(n,C)00 0
000 T(n,C) C GL(n,C)0000 T(n,C)0 GL(n,C)00O0O00000

P:U(n)xT(n,C) — GL(n,C);(a,X) — aX

0000 POOOOOOOO0OO0 POOOOOOOOOOOOO0O00 g€ GL(n,C)
0000g=[g...0o)000000 ¢, eC"0000000g¢,...,9.0 C"0O0O
00000C"00000 HermiteJOOO OO gi,... ¢, 0 Gram-Schmidt 0 0 O

000006 =g,a1=g5b 00 0b,a,(k>2)00000000000000

k—1 1

b =gk — Y _(gr ai)ai, a = mbk-
i=1
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odda,...,.q,0C"O0000O0O0O00O00O0O0 a0 ¢4,...,¢ 00000000
00000000000 ¢,0000 1/|kl/>00000000000000

() lar...an] =lg1...gn]X

0000 X e T(n,C)O0000a = [a1...0,] 0000 a € U(n)O a = ¢gXO
¢g=aX'000 X '€T(n,C)000 g=Pa,X"H)OODOOD0 POOODO
o000 11110000000 T, C)DOOOOO GL(n,C)0DO0O0OODOO

detX 0 -0
0 1
S:GL(n,C) — SL(n,C); X — X
: . -0
o --- 0 1

0000SO000000 S(X) = X (X € SL(n,C)) 000 S(GL(n,C)) =
SL(n,C)0D00O SL(n,C)000D0O000

00 1.11.6 GL(»,R)0 2000000
GL*(n,R) = {g € GL(n,R)|detg > 0}, {g € GL(n,R)|detg < 0}
ooo0O0SL(n,R)DO0O0D00O0ODO

OO0 00 1.115000000000000000000det : GL(n,R) —
GL(1,R)=R-{0} 000000 GL*(n,R)0 GL(»n,R) 0000000000
00GL*(n,R)0 GL(n,R)0 LieD 0000 00T (n,R) = gl(n, R)NT(n,C) O O
0007, R)O gl(n, R)0O0D0O0000000 T(n, R)O0O0O00O00D00
T(n,R)0 GL*(n,R)00000000000 P(SO(n) x T(n,R)) = GL*(n, R)
0000000 1.11.500000000000000 ge GLT(n,R)ODOOODO
OaeOn)O0XeTnh ROODOOa=¢gXOOOOdetg > 0,detX >000
Odeta = 1000 a € SOn)Og =aX'000 X' € T(n,R)OOOOOO
P(SO(n) xT(n,R)) = GL*(n,R) 000000 12300 SO(n) 0000 T(n,R)
000000 GLY(n,R) 0000000

det™'({t € R|t > 0}) = GL"(n,R),
det ' ({t € R|t < 0}) = {g € GL(n,R)|detg < 0}

00000 GL,R)OD0O0OD0O0O0O0O0O0O0O0O0O0O0O00O0O000O0O0O0O0 200
GL(n,R)D00O0ODOODOOO

oo STn,R) = Tn,R)nST(nr,C)000O0O ST (n,R)) = ST(n,R)0O0O
O070R)O00D000ST(nR)D0DDO0ODODO0D ge SLn,R)0ODOO0D
a=gX, a€SOM),X eT(nR) OO0 detg =100 detX = 1000000
P(SO(n) x ST(n,R)) = SL(n, R)DSO(n) 000000 SL(n,R)0 000000
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U1li1l7 vinOODODOODOODOODO
BR(V):{(Ul,...,'Un)EV“'Ul,...,’UnD voono }

000 V000000 Bg(V)0OOOOO Be(V)D VPOOOOO GLg(V)0O
0000000000 Bg(V)020000000000-0000000000
WOOOOOOOWOOOOO Be(W)0O0O0O00O Be(W)D WrOOOo0O
GLc(W)DDDOOO0OO0O0O0000 Be(W)0OOO0OO00O

o0 viodobOdey,...,e, 0100000000

T:glg(V) — V" g+—(g(e1),...,9(en))

0000070000000000 T(GLg(V))=Bg(V)0OOOOO Br(V)0O
V"0000000 GLg(V)DDOO0O0O0000D0O0 1.11.600 Be(V)O 200
00000000

00000000 WOO0O07T00000000000000000B(W)O
WrOOOO0O GLe(W)00O0O00000000000000 1.11.500 Be(W)
0oooooo

00 1.11.8 00000000000 VOOOOOO Br(V)O 10000000
vooooobodooii.voovo2000b000bgooog

01.11.9 000000000 VD 20000 uy,...,u, 0 vg,....0,0 VO
0000000000000 000000000000D0 X € GL(n,R)(OO
O (uy...up) =(vy1...v,)X)0 GLT(n, R) 0000000000

0 1.11.10 00000 000000000 VO200000000 uy,...,u,
Ouv,...,v, 0 VOOOOOOOOOOOO0OO000000000000000 X e
OM)(O00 (ur...up) = (v1...v,)X)0 SO()DODOOODOODODOO

1.12 OOO0O0

00 1.12.1 LieD g0 0000 pO
p([X.Y]) = [p(X), Y]+ [X,p(Y)] (X,Y €9)
000000 pO Lied g0000000g00000000(g) 0000

00 1.12.2 Lie0 g0 00000 0(g) 0 gl(g) 0 LieD 000000000 ad(g)
Oo(g)000000000
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00 pqgedg),a,beR, XY egOOOO

(ap +0g)([X,Y]) = ap([X,Y]) +bg([X,Y])
= a([p(X), Y]+ [X,p(Y)]) + b([g(X), Y] + [X, ¢(Y)])
= [(ap +bq)(X), Y]+ [X, (ap + bg) (Y],
p.ql ((X,Y]) = pa([X,Y]) —ap([X,Y])
= p([a(X), Y]+ [X,q¢(Y)]) — a([p(X), Y] + [X,p(Y)])
= [pa(X), Y]+ [¢(X), p(Y)] + [p(X), ¢(Y)] + [X, pg(Y)]
—[gp(X), Y] = [p(X), ¢(Y)] = [a(X), p(Y)] — [X, gp(Y)]
= [lp,d(X), Y]+ [X, [p, ¢] (V)]

00000 o(g) 0 gl(g) 0 LieDDOODO OO
X,Y,ZegOOOO

(ad(X)([Y; Z2]) = [X,[V, 2] = [V, [Z X]] - [Z,[X, Y]]
= [¥, (ad(X))(Z)] + [(ad(X))(Y), Z].

00000 ad(X)0 g000000 ad(g) co(g)0ped(g),X,Y eg0OO0

p,ad(X)](Y) = pad(X)(Y) —ad(X)p(Y) = p([X,Y]) = [X, p(Y)]
= [p(X), Y] = ad(p(X))(Y)

000 [pad(X)]=ad(p(X))00000 ad(g) 0 o(g) 000000000

00 1.12.3 0000 LieD g00000000 Aut(g) D00 LieD 00000
0 Lie0OO 2(g)0000

00 gxgOOgOOOOO0O0O0O0O0OO M%(g,g)0000 M(g,g)000
1.9500000 M2(V,R)00000000000000g € GL(g), B € M*(g, g)
000U (p(9)B)X,Y) =gB(g7'X,97'Y) (X,Y € g) DO U p(g)B € M*(g,9)
00000 p(g) € GL(M*(g,9))0g,h € GL(g), X, Y e g0 000

(p(gh)B)(X,Y) = ghB((gh)"'X,(gh)~'Y) = g(hB(h~'g' X,k 'g"'Y))
= g((p(h)B)(g'X,g7'Y)) = (p(g)(p(h)B))(X,Y)

000 p(gh) = p(g)p(h) 000 p: GL(g) — GL(M*(g,g)) 0000000000
000 X,Y €g, Be M?(g,g)0000 g— (p(¢)B)(X,Y)D 000000
p0 C*000000000000p0 LieDDDDDDDDDDD[,]eM?(g,g)
00000 p00000 Aut(g) = {g € GL(g)|p(9)[, ]=[,]}00D0 1.92000
000 Aut(g) 000 LieO OO0 DO
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Aut(g) 0 Lie00 « 000000000000 00 p000000000peE
gl(g), B € M*(g,9), X,Y €g000OD

[@pB)XY) = GOENBIXY)| = GerBEX )|

= pB(X,)Y) - B(pX,Y) - B(X,pY)

gbooogb 19200

a = {peglig)ldop),]=0}
= {pegl@p([X,Y]) = pX, Y]+ [X,pY] (X,Y € g)}
= 0(g).

00 1.12.4 0000 LieD g00000000 Aut(g)0 g0 000000000
gl(g) 0 Lie0D D00 ad(g) 00000 GL(g) 000 Lie0DO 00 g00000OO
Int(g) 0000(00 1101000000000 Le000O0000O0O0O0O000)

00 1.12.5 0000 LieD g0000 Int(g) 0 g000000 Aut(g) D00 Lie
0oooooo

00 Int(p) D0000D0DOD0 1.550 1.2.100 Int(g) = U{(exp(ad(g)))*|n €
N} OOO0OO0O0D 112200 ad(g) C 2(g) D00 Int(g) C Aut(g) 00O O :
Int(g) — GL(g) 00000000000 112300 Aut(g) 0000 GL(g) 0O
O0000000:Int(g) — Aut(g) 000000000000 C*00000
O01Int(g) 0 Aut(g) 0 LieO DO DD OO0O

Int(g) 0 Aut(p) 00000000000 0000D000000 a€ Aut(g)d0
00 a(exp(ad(g)))a™! Cexp(ad(g)) 0000000 X € g0000 aerd®g ! =
exdX)e ' OO0 Y egDOOO

aad(X)a™ (V) = a[X,a” (V)] = [a(X),Y] = ad(a(X))(Y)
00000 cad(X)a™ = ad(a(X)) 000 aedXg ! = edeX)gooooo
a(exp(ad(g)))a™" C exp(ad(g))
000 Int(g) 0 Aut(g) 0000000000
00 1.12.6 0000 LieO g0000
B(X,Y) = tr(ad(X)ad(Y)) (X,Y € g)

U000 phOghObO0O20000000B0 g0 KillingOOOOOO
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00 1.12.,7 0000 LieD g0 KillingD OO BO OO

H ={geGL(g) | B(g(X),g(Y) = B(X,Y) (XY € g)}
D000 HOOO Le0D0O0000 LieO §0O

h={T collg) [ B(T(X),Y) + B(X,T(Y)) =0 (X, Y € g)}
0000000000 g000000 Aut(g)0 HO Lie00O0D0000

00 000000000 KilingDO BODOO 1.9500000000000
1.1250000000000 a € Aut(g), X € g0 000 ad(a(X)) = aad(X)a~!
00000000Y egd0OO0O

B(a(X),a(Y)) = tr(ad(a(X))ad(a(Y))) = tr(ead(X)a taad(Y)a™")
= tr(ad(X)ad(Y)) = B(X,Y)

O000aee HOOOOOOOAut(g) c HOHO OO LieD 0000000 Aut(g) —
HOC*O0000000Aut(g)0 HO Lie0OO00O0O

00 1.128 Lied GOOOODOOOOD GUOOOODODOD Aw(G)ODOODO
GO00OO0O0O0OD0O0O0OO000D GoUOOODOoOO0ODoO0 Int(G)ODOOO

00 1.129 OO0 LieDOO0O0O LieODO g0 OO
d: Aut(G) — Aut(g);a — da

0000000000000 dnt(G) = AdG) = Int(g) 0D0O0D0DO0O
Int(g) = Aut(g) D OO Int(G) = Aut(G) DO OO

OO0 016500a€ Ait(G)0O000O da € Aut(g)DOD0 16400 a,b €
Aut(G) 0000 dlaob) =daodh 00000 d0DO0ODO0ODOOD
01101100 d000000O0OOOOO0O0O0O (OO 1610000 16.11)00
d(Int(G)) = Ad(G)0Ad : G — GL(g) 0 Lie0 00000 D000 GOOOOO
00D 1.10.50 0 Ad(G) O dAd(g) = ad(g) 0 D000 GL(g) D00 LieO O DO
0000000000 Ad(G) = Int(g)0Int(g) = d(Int(G)) C d(Aut(G)) C Aut(g)
00000 Int(g) = Aut(g) D0 0 d(Int(G)) = d(Aut(G)) 0 0 0 Int(G) = Aut(G)
goooog

00 1.12.10 30000 SO(3)0 LieO s0(3)0 200000000 SU(2) 0 Lie
Dsu(2)00Le000000O0OOO0O
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00
0 10 0 0 0 0 01
=] 1001, ee=[0 0 1|, es=| 0 00
0 00 0 -1 0 -10 0
0000 ey, ezesd s0(3) 000000
le1,e2] = €3, ez, e3] =e1, [es,el] = e
000000
00
f V—1/2 0 | 0 1/2 £ 0 =1/2
b 0 —v=1/2 | T =12 0o | P V=2 0

0000 fi, fo, 0 su(2) 000000

U, fol = fsn fes sl = fi, Ufs fil = fa

0ooooo
000 Fe))=f; (1<i<3)0000000000 F:s0(3) —su(2)0000
0000 Le00OO0O0OO0D FO Le0O0O0O0O0D0O00000O

00 1.12.11 Int(so(3)) = Aut(s0(3)) 000000000 Int(SO(3)) = Aut(SO(3)),
Int(SU(2)) = Aut(SU(2)) 000000

00 001.121000000000s0(3)000 e,e0,es000000000
0000se(3)0 KillingD OO BOOOOBO ey,e0,;00000000000
D0000ad(e)(1<i<3)000000

00 O 0 01 0 -1 0
ad(ey): | 0 0 =1 |, ad(ea): | O 0 0|, ad(es): |1 0 0
01 0 -1 0 0 0 0 O

ERERE

B(ey,e1) = tr(ad(ey)ad(er)) = —2, B(ey,e2) = B(ea, e1) =0,
B(el,eg) = B(eg,el) = 0, B(eg,eg) = —27 B(@Q,eg) = 0, B(eg,eg) = —2.

gbooob p0O0O0bOOn

-2 0 0
0 -2 0
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- 000doooooo 112.7oo
Int(s0(3)) C Aut(so(3)) C O(s0(3); —B) = O(3).

Int(s0(3)) 0000 ad(e;) D0 0000000 ad(so(3)) = o(s0(3); —B) D 0 0O
00000 1.11.300 SO(s0(3): —B)0 00000

Int(s0(3)) = SO(s0(3); —B).
0 1.11.400 O(se(3);—B)0 00000 20000

SO(s0(3); —B) € Aut(s0(3)) C O(s0(3); —B)
0000 Aut(so(3)) 0 SO(s0(3); —B) D00 O(s0(3); —B) 000000

gler) =1, glea) =2, gles) = —es
000 geGL(s0(3))00000g e O(s0(3); —B), detg = —10
[9(e1), g(e2)] = [er, €2] = €3 # gles)
000 g¢ Aut(so(3)0 000000
Aut(so(3)) = SO(s0(3); —B) = Int(s0(3)).

00 1.11.300 SO3)00000000 1.12.900 Aut(SO(3)) = Int(SO(3))00
0111200 SU(2)000000 1.12.1000 su(2) = so(3) 0 0 0 O Aut(su(2)) =
Int(su(2)) 000000 1.12.90 0 Aut(SU(2)) = Int(SU(2))0
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20 o4t

21 0o0OOoooooogd

00 2.1.1 MOOOOOO GO Le0000OC®000 GxM — M;(g,z) —
¢g-200000000 ¢,€G,zeMOGOOOO0 0000

(9192) - = g1+ (g2 - ), e-r==x

Ooboooobo0oGUo MO LiedDOODOOOOOO0ODOOO0 z,yeMOOODO
OgeGOUOODOD0yg-z=y00000GO MOOOOODOOODOOOODOO

00 2.1.2 Lied GUOOUOO MO LieOO0OO0ODOO0OgeGOOOO
g M—->Mx—g-x
O0MOOOOOOOOODOOOOOO g 'O000oooooooo

00 2.1.3 GO LieDO0O HO GOO LieDOD0OOOD0OO0OOT:G— G/H;g—
gHOOOO GO HOODOOUOOOOO G/HOOODODOoOoOoooooo

{OcG/H |~ (0)o ¢oooo}
0OG/HOODODDDOOOODDOO0O000O

Gx(G/H)— G/H;(g,zH) — gzH
O000GOG/HO Le0ODODDODO0OO00D G/HOODDDOOOODDOO

00 000000 G/HO HausdorffO0 OOODOO00000g, g0 € G, g1 H #
HOOODg ' ¢ HOOO HO GOOODOOO0 G- HO ¢5'¢ 0000
gogooooooobobobbboguobbb oo U2_1U1 CcG-HODOUO
00000 % € U;0000 a;'2, ¢ HOOODOO o, H # 2,H00D0000
n7(U)Na(lU) =00r:G—-G/HOODODOODOO «(Uy) 0 ¢H=m(g;) 0000
0000000 G/H O Hausdorff OO OO OO

godd

7:Gx(G/H)— G/H;(9,xH) — gxH
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000000000000v:GxG—G;(g,2)—ge00000,000000
ro(lx7) =7or0000G/HOOOO OOO00 (ro(1x7))"Y0) = (wor)~1(O)
0GxGOO00001lx7:GxG—Gx(G/H)DOOOOO

7 H0) = (L xm)((ro (L xm))"(0))

000 1x70000000 7 (0)0Gx(G/H) 0000000000000 7
000000000000 geGOOO0 7,:G/H— G/H;oH — geHOODO
0700000000000

000000000 G/HOOOODODOOO0O0O0O0O0O0OgO GO LieOOO
HOOOOO gO Le0O00K0000g0000Kh0000mO 10000
000000g=m+h0000000000 18500 mh0000 00000
U, U,0 GOOOO eOOOOVOOOOO

Unx U, —V;(X,)Y)—expXexpV

O0000000000explU, 0 HOOODO eODOODODOO HOODOD GOO
000000 GOOO00e000000WOOOOOexplUp,=WNHOODODO
mOOO0OO000000U0UDU0000000000U C Up,exp(—=U)expU C W
000000000Oexp:U —expU 0000000000 Hausdorff O OO
0000000000000 00000000000 7 : expU — w(expU) O
00000000000X,,X, € UO 7w(expX,) = mlexpXo) DO DD OOO
O (expX))H = (expXo)HO OO exp(—Xy)exp X, € HOOO X, X, € UO0O
OOexp(—Xy)expX; € WOOOWNH =expl, 000000Y €U,00
000 exp(—X3)exp X; =expY OO OO expX; =expXoexpYUU,, U, 000
000 X, =Xo,Y =000000007:expU — w(expU) DO0OOD0OOO
00 Hausdorff 00 0000000000000 0000O0DOOO000U xU,O0
g=m+h000000000UXU,CU,xU, 000 expUexpU, 0 GODO
O0e00D00O0000O00O w(expUexpUy) =m(expU)0 G/HODO OO 7(e)
00000000000 :U —a(expU); X —m(expX) 0000000 DODOO
O00¢00000000000
O0g¢geGOO00T,:G/H—-G/HOOODODODDOOOO O, = 1,(r(expU))
0G/HOOODDDOOO {Oy}yecD G/HODODDODOOOO

gbg:i/flngfl:OgﬁUCm

0000 {(0,,é,)}ecD] G/HODODOODODOODOO0DOO0OO
ugd
[:UxH— (expU)H; (X, h) — (expX)h

O0UxexpU,000000000000000Re HOOODO = Ryolo(lxRy—1)
O00Il0UX Ry(explUp) 00000000000 DODOOOOOOIODOODOO
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o000 UxHOOOODOoooooboooooboboo/looboooo
0000000000 (X, h) € Ux HOOOO Xy, hy) = [(Xa,he) D000
(exp X1)hy = (exp X3)ho O 0 O Oexp(—Xy) exp Xy = hohy' € WNHOO O OOODO
O0Y e, 00000 exp(—Xz)exp Xy =expYDOOOO expX; =expXoexpY
000 X1 =Xo, Y =00 hohy =expY =e000 by =h, 0000 100000
goooooo
1:Ux H— (expU)H =7"40,.) C G

0000000000000 = ("), (")) 00000 (Y, : 7 10.) — U
0C*00000000000gen(0,)0000

g =U1T"(g), 71)a(g)) = exp((I7)1(9)) (7 H)2(9)
000 7(g) = m(exp((I")1(9))) = ¥((I"i(9)) DO D
("i(g) =v " om(g) (g€ '(O.))
0000000, N0, #0000 ¢geG0O000

Py, © ¢;11 : ¢g1(Og1 N ng) - ¢gz(Og1 N 092)

00000000000000000X € ¢,(0, N0,)0000

By, ogzﬁgjll(X) =t org_21 o 74 0 Y(X)
= ¢ (7(ga grexp X)) = (7)1 (g5 g1 exp X)

00 ¢g,0¢,'!0 C*00000000000 ¢,0¢,!0000000 C>*000
000000000 ¢,0¢,!00000000000000 {(Oy, ¢)}gec D G/H
000000000000000000
OD007:Gx(G/H)—-G/HOODOO GO G/HO LeOODO0OOO0ODOOOO
000000 ¢g1,9: € Gz € G/HOODOO 7(g1go,2) = (g1, 7(g0,2)) 00000
r0000000000070C*00000000000000O0-00000
00000000000 (g,2H)€Gx(G/H)O X eU,ZcgOOOO

Gge 0T o ((Lyoexp) x ¢, )(Z, X) = ¢gu 0 T(gexp Z,m(zexp X))
= ¢gom(glexp Z)zexpX) =v¢ " o7 ! om(g(exp Z)xexp X)
= ¢ tom(exp(Ad(z™ ") Z)exp X) = (I"Y)1(exp(Ad(z ) Z) exp X)

00000070 (¢,2zH)0000 C*0000000000 Gx (G/H)OOO
00000000070 C*0000000

00 2,14 GO LieODOO HO GOO Lie0DO0OO0O0OOO0OODO 21300000
0000000000 G/HO GOODOODODODO0O0O0OGO G/HOODOODOOOoOo
U Lie0O00D0Oooooon



o4 gz20 00004

o0 215 GcGU000MOO00000O00DOO0 Le0O0O0OD0 GOOOOOO
gooboboooobobobdpeMiDOO

Gy,={9€G|g-p=rp}
00000G,0 GO0 Le0000000O0O0O000
a:G/Gy— M;gG,—g-p
00000 G/G,0 MOOOO0O0OO0O0O000000

00 GxM— M;(g,x)—g-z0 C*000000a:G— M;g—g-p
0000 a0 C*0000000000G,=a(p)0GO0000000OG,
0GO00000000000D007600G,0G00Le0000O0O0OODODOO
H=G,00000213000000000000000000

00 0000000000000000GO MOOODOOOOOO0OOO0OO0OO0
a00000000MDOOOO0OOOOOA& Y (O)0GOOOOOO0OOR: G —
G/HODOOOOO #(a*(0)0 G/HOOODOODaor =a000 a}(0) =
m(a~1(0) 000 0000000000000 0000D0000O00 @000
0000000000000 GOO000000000xe0000000O0e
00000000 coooocCc=CcheC?coO00O0OonoGoOooOoOoOOn
0000000012400 GOOOOO {O:}en0000

(0,00 geGOOOO O;CcgcOOOO)}

0GO00000000000D0DOD O;,00000;,C¢CO00geGnOn
00G=u¢CO000000a000000 M =J,a(¢;C)00 ¢CO0000O
D000 a(gC)0D00000000 a(¢C)0 MODOODODMODOODODO
Hausdorff 0 0000 Baire D0 0000000000 a(¢C) =g:-a(C)000
000000000 212000a(C)000 a(c)=c-p0000

pect-alC)=c'C-pcC?p
000 C?-p0p00000002C?-p0 z-p000000
alr) =x-peaC? p=a(xC?) C alO).
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gboobgoobobbob 3212000

p=JAd(k)a
00000000000
V=1S(m)= |J v=1SD(m)s™",

SeO(m)
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ooov—-100o00d
Sm)= J SD(m)s™".
SeO(m)
Riemann 000 (GL(m,R),0(m))00000000000000000ODOO0

00000000D0000000 XeSm)ODOOO SeO(m)Dt; e ROO

oad
t

X=29 - S1
tm
0000000000000 0000000000000000001<4<m0

god
ty

el-v—l :tl

O000egea00000OG/KOaOOOOOOOODOO
A={t(ei—e;) |1 <i<j<m}
godd

('tl 3\
Cy= t1 > >ty
\ L . Vs
OWeylOOOOOODODOOO
('tl )

Co = t >

V
v
~
3

\ tm J

000000000000 3215000
p=J Ad(k)Cq
keK
0oooooooooo
Sm)= |J SCS™".
SeO0(m)
00000000 XeSm)ODO00 SesSOom)dt;cROOOD
t
X=S . S~ > >t
tm
oooooo
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gbodgbooboboobuoobobbooboobobboboobaobo
gogoobbobobbuodooooobbobobboouoooooboboobboad
gbbbodbudgbbobboobuoobboobuodoboobbodd 3.2.16
ggobobogggboood

00 3.4.3 (Carne) n>mOO000
ST = (X € M(m,n) | tr(X*X) = 1}
00000(m) 0000 S 0000no
P,(n)={Se€ M(n,n)|S*=82>0,trS =1, rankS < m}
000008 /O(m)0 P,(n) 000000000
oggd 0o
0 : S S Pon); X — XX

000000 ¢00000X €8 0000 X0 mxnO0O0O0O0O X*0nxm
00000 oX)=X*X0nxn000000w(X*X)=1000 trp(X) =1
0000

p(X)" = (X"X)" = X7X = p(X)

UbdbzeR"OODOOOOOODOO
(x,p(X)z) = 2" (X" X))z = (Xz)" Xe = (Xz, Xx) > 0.

O00000eX)DO0O0000000000XOmxnO0OOOOn>m0O
g
rankp(X) = rank(X*X) <m

000000¢(X)eP,(n)000000000000000000 00000
0000
TeOm)OOOD

o(TX) = (TX)'TX = X*T*TX = X*X = ¢(X)

O00000¢ : S*' — P,(n)0 ¢ : S*'/O(m) — P,(n) 00000¢0
S /Oo(m)00000000000000

¢: 8" /0O(m) — P,(n)000000000000000 S € P,(n)0000
SO0D000000000034200000000€0(n) 0000

A1
050 = ., MNER
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Oo0ooobo0dr =rankS <m <nUOO00O00O0O00OOOO0O0ODOOOOO
ooooaNg,=---=\=000000S000000O000bO0bDObOOOO
0000000N>01<j<r00000000D0«wS=10000000

At
* )\T -
0*S0O = 0 . A >0, ;)\jzl, rankS =r <m
0
goooogo
[ VA 0 0]
A= VA 0 0 € M(m,n)
0 0 --- 0
0(0 --- 0
0ooo ] )
A1
ANA = Ar = 0*S0.
0
0
ogoon

tr(AA) =) N=1
j=1

O00AeS*H000000AA=0SO0000 0000000 0*000
0o
S = OA'AO* = (AO*)*AO*

0000X =A0*€ M(m,n)0000 X*X =S00000 tr(X*X)=1000
XeSM'OODODOODOOO oX)=S000 000000000000 ¢0
Doo0o00

¢ : S8 /O(m) — P,(n)000000000000X,Y € 80 p(X) =
e(Y)=S€P,(n)00000000000000000000O0000O €0(n)



88 g30d 0Oo0Ooad

oooo
A1

0*S0 = Ar . A >0, Z)\jzl, rankS =r <m

gooooboooooooogd
O0"X*X0 = (XO)*XO = (YO)*'YO
goooon
A=X0,B=Y0O € M(m,n)

0000ADDOOOOaeR"(1<i<n)0000A=la...a,]00000
BOOOOOOb,eR™"(1<i<n)0000B=[b,...b,]00000

At

=A"A=| ¢ |]a ... a,) =aja]

[, ;)]

0

gubbdday,...,a,00000000r+1<;<n0000a,0000000
0000000000 a; 2000000000000 +1000000rankS =r
oogooodiba;=0000

A=la; ... a,0,...,0].

oo
1 1
\/—)\_lal,...,\/—A_Tar
ooooboobooboboooo rR"Ogobobooboooboooo
A’:{Lal La al i, ... a’}EO(m)
\/)\—1 ’ 7\/)\—Tv"7 r+17 ’» Sm

goodooogooogoon
B = [bi...b,0,....,0],

1 1
B/ = |:\/—)\_1b1,...,\/_A—bmb;.ﬂ,—la"'?b;ﬂ] € O(m)
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00000000007 =RB(A)e0Om) 0000 TA =B00001<i<r
oooo

1 1
Tﬁai:ﬁbi.
O000Ta;=b; 000 TA=B0O00000D0O00TXO=TA=B=Y0OOO
O07TX=YUOOOUOOOoooO oOoooooono
o : S /O(m) — P,(n) 00000000008 /O(m)0000000
P,.(n)0 Hausdorff OO OO ¢ : S*/O(m) — P,(n) 00000000000

00341000 0000 =85/50(m)0 Sk /O(m)00000000
000000003160 (1)000000 r, : 3¢ — £k 0000 Sk /ry,
Sk/O(m) 0000000000000 3.1.700 8/50(m)0 8 /SO(m)00
0000000000000000&5/0(m)08k/Oom)00000000000
0ooost/r0 S8 /O(m) 000000000

00 34300

S i & P(m) ={S € M(m) | S* =5 >0, trS =1}
DO000P,(m)D (m—1)(m+2)/20000000000000000000
Vim={SeM(m)| S =S5, trS =1}

goooov,idooogooooon

1 1
dimV,, = §m(m+ 1)—-1= §(m —1)(m+2).

31752 c Pm(m) O ty,t > 0(t1—|—t2 = 1) 0000 t,5;+t255 € V,0O0dOOx € R™
godd
<(t131 + thg)JZ,ZL‘) = t1<51[E, l’> + t2<521', ZL‘> Z 0

00 51 +6% >00000000 P,(m)00000000000 P,(m)000
D000000000000000000000000000 100000 3.4.2
D0000000000000

131
Pom)= J T - >0t 4ty =177}
TeO(m) tim

00000000 P,(m)0000000000L/0V,0000000 P,(m)
00000000P,(m)0000000000000P,(m)0V,000000
00000000000000033600 (m—1)(m+2)/2000000000
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ooooopP,(m)O0V, 0000000

th
t]ZO,tl—F—th:l,

ty oty =0

OPn(m) = |J T T

TeO(m) tm

= {Se€P,(m)|detS =0}
00000000 Y+ 0000000000000000000000
S SV, xRy X — (X*X, det X)

D000D000000 9000007 € SOm)0000 (TX)=¢(X)IOO
00O
Y SV xRy (X)) e (X)) = (XX, det X))

O well-defined D OO OOOO0O0OOO

@DDDDDDDDDDDDDX,YGS;Z“DDDDw(X):w(Y)DDDDD
O00000X*X =yYOOOOTeOomOOOODTX =YOOOoooO
00 343000000000 detX =detYOODOOOOODOdetX =detY =
detTdet XOOOOOOOdetX 400000 detT’=1000 T € SO(m)00O
O0000detX =0000007TX0OOOODOOR"ODOODODOOTX(R™) O
R"O00Om—-100000000000000000000TX(R™MOO0OOO
0000000 ROOOO RTX =TX =YOOOOOOdetT =-10000
det(RT)=1000 RTGSO(m)DDDDDDDDDDDW(X)Z?T(Y)DDD?Z)
ooooood

@Z}:Enmfl—>Vm><RDDDDDDDDDE%*IDDDDDDDVmXRD Hausdorff
DDDDQ&D EQHDDDDDDDDDDDDDDDQﬂDDD Vo.xROOOOOOO
0000000000000000000X eSS 0000 X*XO0O0OOOOO
Ot(X*X)=100000 X*X €V, 0000X*X > 00 det(X*X) = (det X)?
oo0oooooon

T ={(5,t) €V, x R| S >0, det S = t*}
00000034300 877000 X+~ X*X00O000O
P.(m)={S eV, |S>0}

0000000000000 (S,t)€7,0000 X*X=S0000 X €870
000000000 (det X)? =det(X*X) =detS=#*0000detX =+t00
O00detS=00000detX =t=000000 ¢(X)=(S,t)0000detS #0
D0000detX =t000 ¢(X)=(S,)0000detX = —t000 R*00
0 ROOOO ¢(RX) = ((RX)*RX,det(RX)) = (X*X, —det X) = (S,t)0 00 O
D000 ¢(Ert)y=7,000000000¢: 2" -7, 000000000



3.5, DOOooooooo 91

000000000 P,(m)0 i(m—1)(m+2)00000000000000

P,om)000000O0OO0O00O00O0ODOOODODODOOOODOOOOOT,,O
P,(m) 0000000000000 O0O0 S VdetSO S+— —VdetSOOO
DDDDDDDDDDTmD%(m—l)(m—i—Z)DDDDDDDDDDDDDDDDD

0O0Se 0 Ym—-1)(m+2) 0000000000000

0344 m=200000034100000 7,0000000000 Se€ M(2)
OtrS=10detS=*000000SO000000000000O000O0OOOO
SOoobobooooobooboboobooogoo

T, = {(S,t) € Vo x R | det S = t*}.

gboooboobobooboobov,oooooo

r oy
y 1—=x
gooon

det[z 1:] :x(l—x)—y2:<%>2_(x_%>2_y2

goooog

e {([ 0 ) even () e ()]

OO00O0O0O0detSO SOUODOODmOODODODOOOm>30000000
gobboboooobbboooon

S:

00 3.45 0034100000000000000 Pu(m)O (m—1)(m+2)/2
0000000000000000000000000m<n00000

P,(n)={Se€ M(n,n)|S*=5>0, trS =1, rankS < m}

O00rankS <mO0000000000OO0OPR,(n)0000O0ODOOOOOOOO
gogobbbobbbuodgoooobbobobbouoooooboboboobogd
gobooboogon

3.5 UO0Oooooood

D00x:8 - 0000008 000000000, 0000000
000000 SO(m)00000000000000000000000000
00000000000000000000000
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(X,d)00000000GU0 XO0O00oooooooooooooGEo Xooo
goon

d(gr,gy) = d(z,y)  (9€G, r,yeX)
0000000 GoOoooooooooooooaoa
GxX—X;(g9,2) — gx

000000000000XO GoOo0O0O000 X/Goooooooo Xoo
oGUooioooboboogoooboooooboooobobobooboobooDO X
ggbobobuoggobbbooooobbooogbooog

m: X — X/G; x— 7(x)

ooboooboooGoooboooobo GeOO0O0ODOOODOOODOODOOOO
ggoboboogoboogo

00 3.5.1 GOODODOO (X,)DOOOOooooooooooOd

p(7r(:1:),7r(y)) = inf{d(glaj,ng) ’ 91,92 € G} (xay € X)

0000 p000000p0 X/GOUOOOOOOOOO p0O00O0O X/GOOODO
X/GOOoOoooooood

00 GO0O0O000000 0000 if0min0000000000000
GO XOOOoOooooooo
p(m(z), 7(y)) = min{d(gz,y) | g € G} = min{d(z,gy) | g € G}

goooog

p(n(z),7(z)) =000000000000 pla(z),7(y)) =0000000 ge G
0000 d(gr,y) =0000 gr=y000000000w(z)=7(y)D000O0OO
p(r(x),m(y)) = p(r(y),x(x)) DO DDOOODO0

(X,d)00000000

d(g1z, g22) < d(g1z,y) + d(y, g22)

0000000000000 p(r(z),#(z)) 000

p(r(x),m(2)) < d(gi12,y) + d(y, g22)
000
p(m(z),m(2)) < p(n(x),7(y)) + p(m(y), 7(2)).
000000p0 X/GOO000000
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gt pdbbbog

p(r(x),m(y)) <dz,y)  (v,y € X)

000000000 7: (X,d) — (X/G,p) 0 LipschitzD0 DO O0OO0,0000
X/GO0000000000000X/GO0000x:X —X/G000000
0000 X/GOO000000,00000000 X/¢00000000000
000000 X/G00000000000 00000« 40)0X000000
000000000 zenY(0)0000(x)0000000000X0000
00d0000000000000->00000

By(z;r) ={y € X | d(z,y) <r} Cc 7 1(O)
000000000000
(x)  By(w(x);r) = {r(y) € X/G | p(n(z),7(y)) <r} €O
0000000000007(y) € By(x(z);r)000000 geGOODOODO
d(z, gy) = p(m(z),7(y)) <r.

000 gy € By(z;r) co 1 (O)000 n(y) =n(gy) e00000000 (x)00
00000000000 X/GOoo0O0o0ooooooonoog poboooooo
O0000X/GOOOOOoOoOOoOoouoooooooooooo

00 3.5.2 Sk = gmk=U-1(1) ¢ M(m,k—1)0000 Riemann 0000000
000d0000000000m>2000

d(X,Y) = arccos tr(XY*) = arccos tr(Y X*) (X,Y € S*)

00000000000 «(XY*)0O00O0O00000000000 3510000
0SS 00000X 0000000000

p((X).7(¥) = min d(TX,¥) = d(r (x(X)), 7 (x(V).

00 38.5.3 Sk =95m¢-D-1(1)00 X,yOOOOOOOO0OO0OO0OOd(X,Y)OO0O
0000000 DOsin00000

1 1
in—d(X,Y)=—-||X-Y
sin Sd(X,Y) = 2| X — V|
gogooboooooooooooogd

1
d(X,Y) = 2arcsin§||X -Y].
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00 3.5.4m>2000 X 000 p00000000000O0

X Y) = tr(TY X™).
p((X). 7(¥)) = arecos e tx(TYX")

00 pO00000<p<70000

gboboooogbobobooboobooss4bboboooobonog
gogoobobobobbbotbooooooooboboboobobobs21rooboboooad
U0 WeylOOOOOOODOOOODOOOOOODODODODODO

g 35500000

t
diag(ty, ..., tm) = € M(m)
tm

0000000000000 X eM(mm)0OOO S e S0(m), T eS0(m)0
t;e RODOOO

(x) X =05diag(ty,...,tn)T, 12 =gt > [t
00o0ooooo S,TeSO(m)0 u;,v; e RODOO
diag(uy, ..., uy) = Sdiag(vy, ..., v,)T

0000000000 000(w)0 (v;) D mMOOODOOOO0ODDOOO —-100
000000000oooooo0o0Od (x)0Do0o0 XODooo

diag(ty,...,tm) > 21 > |t
Ooo0Oooo0
00 3.5.6 XeMm)OODOOO 3550000
(*) X =Sdiag(ty,...,tp)T, 11> >tp1 > |t
Ot,...,t,0 XO0ODOOOODOO

00 357 AeMm)DOOOOO A,...,A, 000000000000000O
goon

max{tr(TA) | T € SO(n)} = Z A

gogbobobogooboboboooobbobooooboooo
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00 35.8 A0mO000000000000(1)00 (3)0000000
(1) 000 SO(m)0000Tw— t(TA) 00000000000 00000
(2) 000mO0000 XO0000 t(XA)=0000000

(3) ADDDDOOO0O00OO

gogooobod

a
dt

d
tr(e™ A) =tr [ —
r(e"*A) r(dt

etXA) = tr(XA)
t=0

t=0

0000@1)0 (20000000
M(m)0OOO

(X,Y) = tr(X*Y)  (X,Y € M(m))

O0oo0o0o0O0O0M(m)ODODODO0OOOO0OOOOOOOOOOODOOOOODOODOO
O000000000000O0O000oooooooDO (20 3)ooooood

00357000 A,...,\,0ADODDODOOOOOOOOS,TeSO(m)O0O
0o
A = Sdiag(A1, ..., An)T

D00000SO(m)0000000000S80(m)0000 T — t(TA)O0OO
T, € SO(m)DO00D0 tr(ThbA)DDO00000 SO(m)0000 T — tr(TTyA) O
0000000000 000000035800 ,ADODOODOOOOOOOOO
00000000000000000000UeSO(m)0000

T()A = Udlag(tl, PN ,tm)U*

gobobooogbobogo

m

tr(ToA) = tr(Udiag(ty, ..., t,)U") = th

j=1
gogooobod

Sdiag(A1, ..., A\p)T = A =T Udiag(ty, ..., tm)U"
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0000000 355000000000(;)0 (M\)0mDbO0D0O0DO0OOOOO
0-10000000000(¢;) 000000000 thDDDDDDDDD

Jj=1

000000 -1000000 ) ¢;0000000) +,000000000
j=1 i=1
00040000 00000000000000000¢+ 0000000000
00000000000000000000
{t;[1<j<m}={N[1<j<m}

gogbobuogoobooboo

m m

gogo

0359 X,YeSO0000mOOO0O00YX*000000 A,...,\, 000
D00x(X),~(Y)eXk 00O0O0O0OO00000O0O00O0

p(m(X),n(Y)) = arccos Z A
j=1
00 p00000<p<n/20000

gt bohoobbodgbobd 3.5.4DDD3.5.7DDDDDZ)\J-DS§1DDD

J=1

gooobobbiloobobboobbouooooogobbooon Z)\jD ooono
j=1
O0000000oooo<p<7/2000000

g 3.5.10 1 <7 <mbogg
D; = {X € SF | rankX < j}
O0000#x(P;)0 R"00 j00000000000000000000C00000

00 3511 m=20000000 Xes0000 p(r(X),n(Y))==/2000
0Yes0O000O0m>30000pxX),x(Y))=r/20000 X,Y €Sk
000000000000

(1) k=m+100007(X),x(Y) en(D,1)000000
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2) m+1<k<2mO0000#(X),~(Y)0OOO0O00000000 7(Dp_y)0
0oooo

3) 2m< k00000000 7(D,_,) 000000 #(X),~Y)ODOOOODO

00 p((X),#(Y))==/200000000000000000 35900
D N =0

Jj=1

00000000000
m=20000 $000000000000000000000000O000O0
000 XeSoooo p(n(X),nY))=7x/20000 Y esSf00000000
0000

m>30000

ZAJ‘ =M+ A2+ (Aot + An)
j=1

D000M,. . Ao dmi+A, >00000000000000000000

ooooon
D=0

7=1
gooooooo yy=---=)\,=00000000 YX*=00OOOOOOO
gdoXxXoyYdoooooboooobo x0y; 0000000000

Y1 (yix1) o (Y1, %m)
0=YX*= : [x]---x ] = : : :

Ym <ym7X1> <ym’Xm>

0XO0O0O00ODOO0OOOoORMIOODODDOOODODOOOV(X)OYOOOOoOooOO
O0RM-!ODOODOOOOOVY)OOOOODODOODODOOOOO

dim V(X)) = rank X, dim V(YY) = rankY
00000000 p((X),x(Y))=x/2000000000
rankX +ranky <k —1

afalululals
k=m+100000000X,YD 0000000000000 100000
0000000000px(X),~(Y))=x/2000000000

rankX + ranky <k —1
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oooo
rankX <k—1—rankY <k—-1—-1=m —1.

00000 rankY <m-—10000000000007(X),n(Y) € 7(Dp_1)00
oooo
m+1<k<2m0000px(X),n(Y))=7r/2000000000

rank X + ranky <k —1
O00000 m<rankX OO m<rankY OOOO
2m <k —1<k <2m

gdboobobboobboouboXx,yooobooobobobooooood m—10
00000#(X),~(Y)DOOOODOOO0000 7(Dy)000000

2m < k000 0OrankX = rankY = mO00000V(X)O V(Y)DO RO
00o0o0o0o0ooooooooOoooooooooooU0d #(D,)DO0OO0ODO
(X),7(Y)OODOOOO

oooooooooooooo«(p,)0oo00oo0 «(D,) 00000000
ooboodoooooooo p;000dgooooooon

od 3.5.1201<y37<m—-100000
ﬁj:{XESf;HankX:j}
DS&DDDDDDDDDDD

00
E ={X € M(m,k —1) | rankX = j}

0O000D; =& NS, 000000(1,1)0000 (4,/))000000000

0100000000000000000 M(m,k—1)000 E;000000

GL(m,R)x GL(k—1,R)0 M(m,k—1)00000000000 00000

00 E;00000000

& = GL(m,R)E,GL(k — 1,R)

0000000021700 &0 M(m,k—1)0000000000
000 XeD;=&NnSh 00000
TSk = RX € Txé;
000000
TxSF +Tx&E = M(m,k — 1)

0000000008K0&0000000000000000000D; =§&,nNS,
0sSko0ooooooooo
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00 3.5.13 X, YeSHOOoOooO

R(X.Y) ={R € SO(m) | p(x(X),7(Y)) = d(X, R"Y)}
D000 R(X,Y)DOOOO
00 3.5.14 X, Y eS,OOOO

R(Y,X)={R'| Re R(X,Y)}

0000007, T, € SO(m)0O000

R(TIX,)Y) =R(X,V)TF, R(X,TvY)=TR(X,Y)
oooooo

g

o o oy
p(m(X), m(Y)) ﬁ&&j@XY)jggmﬂxT )

0000000000000000007eSO(m)0000 R(X,Y)0ODO0O00
0Doo0o000
R(Y,X)={R"| Re R(X,Y)}
0000
ReSOm)00D0O0 ReR(IYX,Y)DOOOOOOO

T?&)ﬂﬂ&TWj:ﬂEXRW3:ﬂXJWFH:dQMRﬂYH.
S m

g

min d(1X,T"Y)= min d(X,77T*Y)= min d(X,T"Y)
TeSO(m) TeSO(m) TeSO(m)

DOO0O0OREeR(MX,Y)DOOOOOOOO RN eR(X,Y)D OO0
R(T\X,Y) = R(X,Y)T}

gooo
OO0 ReR(X,Y)OOOOOOoOoO

min d(X,T*TyY) = d(X, R°TyY) = d(X, (T; R)*Y).
TeSO(m)

EEN

min d(X,T"T5Y)= min d(X,T"Y)
TeSO(m) TeSO(m)

DOOO0OReRX,Y)DODOOOO0OO TFReR(X,Y)0O0O0
R(X, 1Y) = HR(X,Y)
nfululs
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00 3.5.15 X,Y € S 0000R € R(X,Y)ODDODOO RYX*O0DDO0ODO
000

g

Y — : * — * *
p(m(X),7(Y)) Telglélgm) d(X,T*Y) arccosTenslgicm)tr(T Y X™)

00000000000 000 RX,Y)Oouoooooooooooooooo
O003570000000000000ReR(X,)Y)OODORYX*OODODODO
gogobobooodod

oo 3.5.16 X,YESfleDDDRGSO(m)DDDDDDDDDDDDDDD
(1) R e R(X,Y).

(2) RRYX*OODOOOODODYX*OOOOOOOooooooo

3) RRYX*OUODODOUOOODODODYX*OODODOOOoOooooooooo

00 ()= (2 ReR(X,Y)0OOOOO3570000000000000
RYX*0000000YX*0000000000000000000

2)= (3)RYX*0000000YX*000000000000000000
RYX*000000000YX*000000000000000

(3)= (1)00 35700

SO(m) 3 T+ tr(T"Y X*)
00000
YX*00O00O0O0O0 =RYX 000000 = t(RYXY)

O0D0D0OO0OReR(X,Y)OODOOODO

3.6 UOOogg

000000000000 5000000000000
00 R*000

R?> E] —zrz+yy—-1e€C

00000000 CO00000000000000000R?2000000 C
00000000000SO(2)0 R?*°0O0000O00OU() 0 CO00DOooooon
ggobbooodad

k

k
zzi=o,z|zi|2:1}
=1

=1

Séﬂ: {(21,1’2,...,2};) € Ck
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gbogobogoboobobbos31rboobd

Sk = {(Zl,IQ,...,Zk_l) € Ck!

k—1
dolal=1 }
i=1

0000000000000Si0S 00 U(1)0000000008k/ ~000
0000008/ ~00022110000000000 PF-2(C)0000000
00000, 00000000000000 k-20000000000000
0D0n,>300000x000000000%0000000000



